ITEM	Unit	Approximate Quanity	FORTILINE WATERWORKS		CORE & MAIN		
			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
1	EA	800	\$17.52	\$14,016.00	\$4.91	\$3,928.00	
2	EA	100	\$8.36	\$8,366.00	\$5.17	\$517.00	
3	EA	400	\$87.61	\$35,044.00	\$65.23	\$26,092.00	
4	EA	80	\$12.02	\$9,604.00	\$89.30	\$7,144.00	
5	EA	60	\$121.61	\$7,296.60	\$90.50	\$5,430.00	
6	EA	120	\$102.24	\$12,268.80	\$76.10	\$9,132.00	
7	EA	60	\$147.44	\$8,846.40	\$109.75	\$6,585.00	
8	EA	250	\$5.31	\$1,327.50	\$4.25	\$1,062.50	
9	EA	100	\$5.81	\$581.00	\$4.65	\$465.00	
10	EA	75	\$6.40	\$480.00	\$5.14	\$385.50	
11	EA	100	\$9.91	\$991.00	\$7.94	\$794.00	
12	EA	50	\$10.55	\$527.50	\$8.45	\$422.50	
13	EA	25	\$12.08	\$302.00	\$9.69	\$242.00	
14	EA	150	\$61.06	\$9,159.00	\$45.45	\$6,817.50	
15	EA	40	\$65.16	\$2,606.40	\$48.50	\$1,940.00	
16	EA	15	\$68.12	\$1,021.80	\$50.70	\$760.50	
17	EA	3	\$70.51	\$352.55	\$52.45	\$262.25	
18	EA	5	\$73.68	\$368.40	\$54.85	\$274.25	
19	EA	5	\$74.00	\$370.00	\$55.10	\$275.50	
20	EA	10	\$306.08	\$3,060.80	\$240.00	\$2,400.00	
21	EA	2	\$212.13	\$424.26	\$157.50	\$315.00	
22	EA	120	\$88.55	\$10,626.00	\$65.93	\$7,911.60	
23	EA	4	\$1,692.86	\$6,771.44	\$1,355.00	\$5,420.00	
24	EA	70	\$121.61	\$8,512.70	\$90.50	\$6,335.00	
25	EA	30	\$106.24	\$3,187.20	\$82.13	\$2,463.90	
26	EA	20	\$149.56	\$2,991.20	\$111.35	\$2,227.00	

ITEM	Unit	Approximate Quanity	FORTILINE WATERWORKS		CORE & MAIN		
			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
27	EA	10	\$275.94	\$2,759.40	\$115.00	\$1,150.00	
28	EA	50	\$12.08	\$604.00	\$9.68	\$484.00	
29	EA	4	\$0.00	N\B	\$1,930.00	\$7,720.00	
30	EA	4	\$0.00	N\B	\$2,264.00	\$9,056.00	
31	EA	4	\$0.00	N\B	\$2,597.50	\$10,390.00	
32	EA	2	\$374.88	\$749.76	\$336.50	\$673.00	
33	EA	2	\$402.53	\$805.06	\$361.00	\$722.00	
34	EA	2	\$552.69	\$1,105.38	\$495.00	\$990.00	
35	EA	2	\$539.35	\$1,078.70	\$484.00	\$968.00	
36	EA	2	\$623.32	\$1,246.64	\$557.00	\$1,114.00	
37	EA	2	\$962.16	\$1,924.32	\$765.00	\$1,530.00	
38	EA	2	\$1,037.84	\$2,075.68	\$780.00	\$1,560.00	
39	EA	150	\$81.92	\$12,288.00	\$78.87	\$11,830.50	
40	EA	180	\$86.38	\$15,548.40	\$83.17	\$14,970.60	
41	EA	100	\$113.96	\$11,396.00	\$109.75	\$10,975.00	
42	EA	30	\$146.01	\$4,380.30	\$140.60	\$4,218.00	
43	EA	300	\$193.37	\$58,011.00	\$185.00	\$55,500.00	
44	EA	100	\$218.31	\$21,831.00	\$209.00	\$20,900.00	
45	EA	20	\$280.85	\$5,617.00	\$269.00	\$5,380.00	
46	EA	20	\$302.90	\$6,058.00	\$290.00	\$5,800.00	
47	EA	6	\$331.50	\$1,989.00	\$319.00	\$1,914.00	
48	EA	6	\$404.53	\$2,427.18	\$389.00	\$2,334.00	
49	EA	20	\$863.90	\$17,277.60	\$831.00	\$16,620.00	
50	EA	20	\$890.52	\$17,810.40	\$857.00	\$17,140.00	
51	EA	6	\$1,047.00	\$6,285.66	\$1,009.00	\$6,054.00	
52	EA	6	\$1,131.41	\$6,788.46	\$1,090.00	\$6,540.00	

ITEM	Unit	Approximate Quanity	FORTILINE WATERWORKS		CORE & MAIN		
			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
53	EA	6	\$1,204.75	\$7,228.50	\$1,160.00	\$6,960.00	
54	EA	30	\$50.83	\$1,524.90	\$44.07	\$1,322.10	
55	EA	20	\$50.83	\$1,016.60	\$44.07	\$881.40	
56	EA	10	\$63.55	\$635.50	\$57.00	\$570.00	
57	EA	4	\$1,722.00	\$688.88	\$146.00	\$584.00	
58	EA	2	\$0.00	N\B	\$160.00	\$320.00	
59	EA	4	\$0.00	N\B	\$215.00	\$860.00	
60	EA	2	\$0.00	N\B	\$290.00	\$580.00	
61	EA	4	\$0.00	N\B	\$325.00	\$1,300.00	
62	EA	2	\$0.00	N\B	\$350.00	\$700.00	
63	EA	4	\$0.00	N\B	\$515.00	\$2,060.00	
64	EA	100	\$65.04	\$6,504.00	\$53.08	\$5,308.00	
65	EA	100	\$88.26	\$8,826.00	\$72.03	\$7,203.00	
66	EA	800	\$58.86	\$47,088.00	\$48.05	\$38,440.00	
67	EA	100	\$58.86	\$5,886.00	\$48.05	\$4,805.00	
68	EA	120	\$68.27	\$8,192.40	\$55.71	\$6,685.20	
69	EA	30	\$68.27	\$2,048.10	\$55.71	\$1,671.30	
70	EA	60	\$17.51	\$1,050.60	\$22.45	\$1,347.00	
71	EA	30	\$133.54	\$4,006.20	\$108.98	\$3,269.40	
72	EA	5	\$113.95	\$569.75	\$99.20	\$496.00	
73	EA	5	\$92.90	\$464.50	\$75.82	\$379.10	
74	EA	4	\$52.26	\$209.04	\$42.65	\$170.60	
75	EA	16	\$122.90	\$1,966.40	\$100.30	\$1,604.90	
76	EA	8	\$122.90	\$983.20	\$100.50	\$802.40	
77	EA	4	\$85.25	\$341.00	\$69.50	\$278.32	
78	EA	12	\$85.25	\$1,023.00	\$69.58	\$834.96	

ITEM	Unit	Approximate Quanity	FORTILINE WATERWORKS		CORE & MAIN		
			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
79	EA	4	\$82.41	\$329.64	\$71.74	\$286.96	
80	EA	4	\$113.95	\$455.80	\$71.74	\$286.96	
81	EA	4	\$124.86	\$499.44	\$108.70	\$434.80	
82	EA	4	\$143.22	\$572.88	\$124.68	\$498.72	
83	EA	2	\$1,998.94	\$3,997.88	\$4,667.00	\$9,334.00	
84	EA	2	\$3,278.59	\$6,557.18	\$5,418.00	\$10,836.00	
85	EA	2	\$9,446.62	\$18,883.24	\$63.92	\$12,784.00	
86	EA	1	\$10,540.34	\$10,540.34	\$7,792.00	<u>\$7,792.00</u>	
87	EA	1	\$13,712.78	\$13,712.78	\$9,902.00	\$9,902.00	
88	EA	1	\$12,411.01	\$12,411.01	\$8,847.00	\$8,847.00	
89	EA	1	\$0.00	N\B	\$11,646.00	\$11,646.00	
90	EA	10	\$98.57	\$985.70	\$85.00	\$850.00	
91	EA	10	\$123.08	\$1,230.80	\$103.50	\$1,035.00	
92	EA	20	\$157.17	\$3,143.40	\$132.15	\$2,643.00	
93	EA	20	\$215.73	\$4,314.60	\$181.00	\$3,620.00	
94	EA	10	\$131.07	\$1,310.70	\$114.00	\$1,140.00	
95	EA	10	\$181.11	\$1,811.10	\$158.63	\$1,586.30	
96	EA	40	\$61.83	\$2,473.20	\$2,040.00	\$2,040.00	
97	EA	40	\$62.75	\$2,510.00	\$2,063.20	\$2,063.20	
98	EA	20	\$61.83	\$1,236.60	\$50.83	\$1,016.60	
99	EA	20	\$62.75	\$1,255.00	\$51.58	\$1,031.60	
100	EA	60	\$136.03	\$8,161.80	\$103.00	\$6,180.00	
101	EA	80	\$151.91	\$12,152.80	\$115.00	\$9,200.00	
102	EA	20	\$136.03	\$2,270.60	\$103.00	\$2,060.00	
103	EA	20	\$151.91	\$3,038.20	\$115.00	\$2,300.00	

ITB Number: 17-100859
ITB NAME: REPAIR PARTS FOR WATERLINE

Department of Purchasing ContractingAGENT NAME: JUDI MOOREBid TabulationBid Opening Date:December 26, 2017 @ 3:00 P.M.

ITEM	Unit	Approximate Quanity	FORTILINE WATERWORKS		CORE & MAIN	
			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
GRAND TOTAL:			\$556,196.75		\$514,981.82	
LSBE Participation or Good Faith Efforts (GFEs)			GFE		GFE	
Vendor Attended Mandatory LSBE Meeting (Yes/No)			Yes		Yes	
Vendor Submitted Cost in Separate Sealed Envelope (Yes/No)			Yes		Yes	

NOTES - DETAIL JUSTIFICATIONS

Recommendation:

Award to the overall lowest, responsible and responsive bidder: Core & Main LP, 625A Hancock Industrial Way, Athens, GA 30605

Number of Bids Received: 3
Number of Solicitation Notifications Sent: 150

Ferguson Waterworks was deemed non-responsive for not submitting the Price Schedule in a separate, sealed envelope.

Purchasing Agents's Signature : Judi Moore

Witness: Angel Frazier